EAGRAROBREERT — 2 N— ABISH —F

202053838 (PA) 26[EIER1H

12R [ R Z XY A EEE R
[A&4£] 1 7% :500,000  ~ 2 3#&:140,000  ~ 33#&:70,000 43#%&:50,000™ . 53 :40,000 9
B ®RBE BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. —B . AE _ 3
1 2 | YIETTY—F L #o4 | KR 2.((31).7 7-6-5-4 | 38.2 9 zzg? fi;g;— G )
LNV y¥—b B:7O0-T5% v b EEHS
=t NN > 1A :04. 44— . - BHE= (EE
ol1l1|Framvrzyx £ 6 i 2(10/42)8 4-4-4-2 | 38.6 5 (4_743) e
L:Nn—ErTv— B:T7—-ZX3Ur TAFAT7—L
e it 6 | EHE= 2:04.8 11-11-10-7 | 37.5 | — 6 475 | TBEEE (EH)
31811 TJI2TVy T g 56.0 (1) -11) ﬂ‘E) fff)lﬁf/\“;( MBS
:yQ7% BN-YvrTI— B 45
Y # 4 | TRE 2:05.1 22-1-1 891 — | 1 | 42 |FTHS (EH)
4155 54.0 2) (-4) IWFRF
L:¥r/0704 BIIRI-TFrI T HiE
RN JIFEE— :06. —3-2— . — FERE (BMA)
5 4| FA> VA= SR ? (076) ? $ees 0.0 ? f_ﬁ KAK(ET
L:O0—-Kp+a7 B:NTLIF7 89— REMS
a . . AL -06. —10-7— . — =AKRS (EM)
6 6| 8y H—51% > 5 s 2(30/%3 10-10-7-7 | 39.3 7 tzg? ey
RIS INATA—H— BUI59—TEyY TSXTT— LI
— e > 44 | EEHME 2:06.6 6-6-6-6 |40.1| — 8 510 | 2)II¥EA (ER)
7|8|10| =F>¥ERNET— 56.0 (1 3/4) -6) /J\%ﬁﬁi(EK
R:2RU7YZRIZX B:ZhRrEQYTU— -
BEHET ; -9-8~ - feid kel (EM)
8 3| T= 77y F 4 6 54% 2(.30/%8 9-9-8-9 | 39.8 11 (4_663) jzéﬂﬁﬁ
L:BALINT Ry 7R Bagx< U7y F BEIT— L
. ] mehs . -3 — AR (T
9l7|g| T1>¥>k—7 i 4 o 2.(078).0 1-1-3-5 | 42.0 3 ;1_573) £ i
RG5> T)RZ B:I—-Y>bhy—d— FERS
. . =+ o 053 . _Q_Q_ p—
10 7|¥IvonyyLy H o4 ’_fg*ai 2(70?:; 8-8-8-10 | 41.1 4 553 :izggg (Em)
A:Medaglia d’0ro £ :0leanda Avenue ) Hargus Sexton, Sa
PR K : -5-11- — AftEE (FER)
1lzlglv=9770747 45 X 2.(0‘3.7 5-5-11-11 | 41.8 10 (5_3;0) %K?&E
LI ATxA—h— B:TV—KR-2X 21505
@ 1 —F—&EBlIEfL
13=7r= 8,5,4,1,9,10,2,7,3,6,11
23 =7= 8,5,4,1,9,(2,10),7,3,6,11
Gal=7r= 5,4,8,1,2,10,6, (3,7),11,9
41—+ — 5,1,4,2,8,10,(6,11),3,7,9
[ N3
B O 2 2,930 714K 1-2 3,100 e 1-2 12,630M 3JEHE 1-2-11 28,560
8 B 2 630M 2-11 2,250 B = 1-2 12,480M K31 2-1-11 171,650
1 280M 1-11 1,180M B H 2-1 26,620M
1 220M

ARICOVWTRDTEEERROODE. TR LI,




